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The figures in the margin indicate full marks
Jor the questions

1. w5 TG I Shiear :

Choose the correct answer :

1x5=5

(@) x=4sinot AF y=4sin(mt+%) e
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A particle is subjected to two mutually
perpendicular SHMs such that

x=4sinot and: y= 4sin(o)t +£) . The
path of the particle will be
(i) e @A
straight line
(i) JeFPR
circular
(iii) CRR'AX
parabolic
(iv) TogErPIy
elliptical

@fent @I @Bt TYPEE IHE IS I
2o ofS T, it | I @A 2]
When a monochromatic wave travels

through a medium, its phase velocity is

-

(i)

el =>le

(ii)

(iii)

(iv)

&% &
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(c)

(3

CIZI oS, Tegel R
In diffraction, bright fringes are of
(i) SR ST W
unequal intensity

(i) TN SFORE =W

equal intensity

(iii) 0 STOE =W

zero intensity

(iv) 8°[¥9 QOIS 7T
None of the above

(d) T|ed fa-few ~_{rwrs <% @y Tt B. W™
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*FIB N AR WIS T =, cofeat
Tou oft @Y fF 39
The fringe width of Young’s double-slit

"experiment is B. What would be the

fringe width if the experiment is
conducted in a medium of refractive
index n?

(i)

>3 3|

(i)
(i) Pn

(iv) 8% «bIe =W
None of the above
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(e) R Bl EIRES ARl W, Cofea iR
 Seré il W R @RS F AR
@R @ Gefss (e T'T wbE

When a polaroid is rotated, the intensity
of light varies but never becomes zero.
It shows that the incident light is

(i) Tt A TSR TGS
completely plane polarized
(i) SPERES
unpolarized
(iii) SRPRFSI TS TS
partially plane polarized
(iv) I QbIS T/
None of the above

Answer the following questions :

(@ TR SR WE Cledm owe e
=7
What do you mean by plane wave and
spherical wave?

(b) FBR B! Bral wiE e e ke

State Brewster’s law, and define angle
of polarization.

2x5=10
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(5)

(¢ 1 mm RS 3 75l F7S 600 nm KA
TR (e SIERS F9 @R 1 m SRS
Pl @3 oS 0N @l Al @Y 7 TI?
Two slits 1 mm apart are illuminated
by the light of wavelength 600 nm.

What will be the width of fringes formed
on a screen placed 1 m away?

(d) CiIER oA SR TR WS B F|
State Huygens’ principle of wave theory
of light.

(€) @A TIF FHT TR SRET TS gy (2

What are the differences between
Fresnel and Fraunhofer diffraction?

. oo Pl oIS R ity wibE Oed T ¢ 5x6=30

Answer any six of the following questions :

@ FET Eenz & B /iRe e
U B SIS GFAC! TADR TSR T
rre e IRE R [ Rfew <Az

Al F9 1 1+4=5

What are Lissajous’ figures? Discuss
various cases which arise when two
simple harmonic motions parpen-
dicular to each other and act simul-
taneously on a particle.

( Turn Over )



§ - — b R (N AfeRM TR @ T e gfowfr oime
“ mW| - B . =R ST ft @Bt =8 (hall) =SreSIE
el 2’4 fob A @Rg Bt 2+43=5

Define reverberation time and write
Sabine’s formula for period of

Discuss the Fraunhofer’s diffraction at
a single-slit.

| SRR TRE RN N reverberation. Write three essential
() RN Y features for a hall to be acoustically
foa w7 9 W WR FENT Raw good.
I 1+4=5

(g9 9 b 7 W TR oWl arRIt

Draw a schematic diagram of

Michelson interferometer. Also describe Sfereat | ) ) 1+4=5
the working principle of it. , ~ What is zone plate? Derive an
p expression for its focal length.
(d) % T AT o7 W OF 7o APfS @

R qareR W2 T 16%W WF 6o FEH | 4. Y G Bt (R GG w9Y) 4x2=8
A PP FW 02 cm &F 0-3 cm W, S
ARG ¢ 499 IR f 90 cm =W,

(SR (ITAT Ol oef By w1 2+3=5 (a) Tl ONS ey I
Transverse vibrations in a stretched

Write short notes on (any two) :

How are Newton rings formed and why

are they circular in shape? If radii of string
16th and 6th Newton rings are (b) AR TS
02 cm and 0-3 cm, respectively, and Fresnel’s diffraction
the focal length of the plano-convex
lens is 90 cm, calculate the wavelength (c) ﬁ‘ﬁ “fforars
of light. y : Fizeau fringes
(e) TEF oM 7 @ GBR TS T (d) e WA CURTT BeoAr
e Shrea wiE T S 399 | 1+4=5 Production of plane polarized light

What is forced vibration? Derive an
expression for the forced vibration of
a body and solve it.
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